a=2x, b=2y. with x,y integers. $C^{2} = (2x)^{2} + (2y)^{2} = 4(x^{2} + y^{2})$ => 2 C. => 2 a, b, C => This is <u>not</u> primitive! For case II: if a, b are odd, then a=2x+1 b=2y+1 with x,y integers $C^{2} = \Omega^{2} + J^{2} = (2x+1)^{2} + (2y+1)^{2}$ $= 4x^{2} + 4x + 1 + 4y^{2} + 4y + 1$ $= 2 \left(2x^{2} + 2x + 2y^{2} + 2y + 1 \right)$ On the one hand, $2|c^2 \Rightarrow 2|c \Rightarrow 4|c^2$ On the other hand, 2x2+2x+2y2+2y+1 is odd $\Rightarrow 4/2(2x^{1}+2x+2y^{2}+2y+1)$ A contradiction / Therefore, only case III happens provided that (a,b,c) is a PPT. Д We can assume that a odd and beven

Theorem: Let (a,b,c) be a PPT with a odd on b Then we can find odd integers s>t>1 such that 1) g(d(s,t) = 1(2) $\Omega = st$ $b = \frac{s^2 - t^2}{2}$ $C = \frac{s^2 + t^2}{2}$ Furthermore, all PPT can be derived in this way. Proof: (For "Furthermore" pour, this will be a homework) problem. Assume that (a, b, c) is a PPT with a odd and b even. This implies C odd. $a^{2}+b^{2}=c^{2} \Rightarrow a^{2}=c^{2}-b^{2}=(c-b)(c+b)$ Claim: Both C-b and ctb are squares. Proof of Claim: Notice that $\alpha^2 = (C+b)(C-b)$, it suffices to show that gcd(ctb, c-b) = 1. Suppose not, let p be a prime and $P | gcd(ctb, c-b) \Rightarrow P | ctb and P | c-b$

We also know that: b even and codd.

$$P \begin{vmatrix} c+b \Rightarrow p & is odd. \\
\Rightarrow P \begin{vmatrix} c+b+c-b=2c \Rightarrow p \end{vmatrix} c
P \begin{vmatrix} c+b-(c-b)=2b. \Rightarrow P \end{vmatrix} b
Q^2 = (c^2 - b^2 \Rightarrow) P \begin{vmatrix} q & \Rightarrow p \end{vmatrix} a, b, c. \\
This controdicts that (a, b, c) is a PPT!
There fore, we shound: both c+b, c-b are squares.
Then we set c+b= S2 (c+b>c-b \Rightarrow s>t)
c-b = t2
c+b odd => s odd c-b odd => t odd.
By the proof of claim, gcd (c+b, c-b) = 1
=> gcd (s, t) = 1. (1) /
For (2), we have : c+b= S2
 $2c = S^2 + t^2 \Rightarrow c = \frac{S^2 + t^2}{2}$
 $2b = S^2 - t^2 \Rightarrow b = \frac{s^2 + t^2}{2}$$$

$$\begin{aligned} &(l = \sqrt{btc})(b-c) = \sqrt{s^2 \cdot t^2} \\ &= st \cdot \\ \text{This means: } a = st \quad b = \frac{s^2 + t^2}{2} \quad c = \frac{s^2 + t^2}{2} \quad A. \end{aligned}$$

$$\begin{aligned} \text{Theorem: A number } c \text{ appears as the hypotenuse of a} \\ \text{PPT } (a,b,c) \quad \text{if oud only if } c \text{ is a product} \\ \text{of primes each of which is } 1 \pmod{4}. \end{aligned}$$